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Assuming that a car’s speed is kept constant on a loop-the-
loop, at what location

(s) [if ever] in the loop does the net
force on the car equal
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a. The centripetal force? EF\ e p4 wh ere.
b. The weight of the car? 72/; ,‘,L‘ F =0
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e. The weight minus the centripetal force?
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2. Draw a diagram to show the difference /
between a satellite’s altitude and its
orbital radius. : 2
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3. A tetherball is rapidly orbiting a central pole. No outside force is being applied to the system. What
(f' is pulling the ball away from the pole?
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4. Starting with the Universal Law of Gravitation and centripetal force, derive a formula for the speed
f a stable orbit around Earth. Show your steps.
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35— "/‘Provid;_ a formula for g on a planet of Mass M and radius r.
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6. On the diagram to the right, label the areas where the planet is speeding up anc%;lowing down.

7. Explain why the planet is speeding up and slowing down in those
areas of the diagram.
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